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Question 20- A person dealing in books allows 4% discount on the

marked price. What price must be marked on a bedsheet that cost Rs.

960 so as to make a profit of 10%?

T 20- T&ohi T SATIR 3hA STAT Afeh Jfehd Ao W 4% B a1 &l 960

T ohl Teh SISXTE I AT He Sfehe ohAT ST =IT1ET dTieh 10% oh1 AT

ITH TR ST Heh?
CP

MP= 25x11xy

1Z§XL1L1 A. Rs4175

N B. Rs 4675

=V llo0 ¢ Rs4475

B D. Rs 4000
(E—"None of these
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Question 21- A bag contains 5 yellow, 3 blue and 4 white balls. 2 balls
are taken out randomly. What 1s the probability that one yellow and

5\1 : & other 1s blue?
ljl g T 21- Teh AT H 5 Hiedl, 3 Fielt 37T 4 ghe Tie 81 2 Tiel ol datdis &7 §
e, \ RIS €1 T et ST e o el B shi Tkl T €2

=
G PE)= SCIXBC.‘
A. 4/23
M: 12 B. 3/22

———

— E. None of these

https://t.me/mathbytarunsirmepl 9

QJ/%X\H\?QZ-d /ZL D. 7/22
2

X )




5%, Cv, B
(11+8)

d

—  _ |

() 3
4p=is

)

Y\>

Question 22- A bag contains 5 red, 6 yellow and some blue balls.
Probability of drawing one red ball from the bag 1s 1/3. Three balls are

drawn at random. Find the probability that all the balls are of same

color.

T 22- T AT H 5 AT, 6 Felt N F el s &1 o1 8 T AT 71
e Y AT 1/3 B A 6T ot J1gfeses ®Y O Wit Sar 21 39 &1 6

uﬁwmﬁﬁﬁ%mﬁﬁéwiﬂﬁ% N
P(@) = SC 1 G Y =34
q
B C. 23/155
L <
- . 31/155
= SO0 | &5ty | gz X
,359?34\‘ B39y | N nyff’ “E7" None of these

TXS LX X3
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Question l—pz — 7p + 12 =0 30

g>+q—30=0

P—? Q‘\‘ H( —F)?) -

i—? <—Gl-l—5 ) B. p<q
C. p< ¢
P> T D.p=q
P < 7 B =q or relation cant be
(7' established/dser TATU
&l ToRaT ST Feha
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Question 2- pz +15p+13 =0 30

g>—7q+12 =0
(- — ) Apa

B. p<q
qﬁ( -+ —f) C.p< ¢q

D. p=gq
P >CL E. p =q or relation cant be
J established/Gser TATUAT

T ToRaIT ST Heond
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Question 3- pz —1l6p +63 =0 30

g —44g+84 =0

F"’ < T?\*jr) A. p>q

N B. p<q
- C+4242 ) C o< G
P¢ 9 D. p=q
P N ] E+~p =q or relation cant be
1 established/dsY TTUq
&l ToRaT ST Feha
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Question 4- pz + 16p +48 =0 30

g +21g+38=0
‘PH) (_—{2 ) A. pP~q
1- (- I‘“J -7 ) o

C. p< q
P 9 D. p=q
J @ —E—p =q or relation cant be
P< 1 established/dsY TTUq
&l ToRaT ST Feha
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Question 5- pz +3p+2=0 30

q°+3q—4=0

P_,, —K A. p>q
B. p<q

7- (-

C.p< ¢
DS (L D. p=q
S :} _E—P =q or relation cant be
< i established/dsY TTUq
&l ToRaT ST Feha
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The given bar graph shows the information of article sold by two

person A(blue color) and B(yellow color).
T T SR 7Tk <1 AR A (e ) SR B (T TT) SR S TS o
2 & STHeRRT fem@mar B
\
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125 BOO K/&UHLICCO :
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223" Aumc(zje: Joo
300 M
None of these = 2725

?00
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Question 6- Find the average number of books sold by A and B 1n all places

T 6- A S B g0 |l TAHT 9T I T8 TEdohi oh! STTH €&AT J1d shifsid

'5“1%0 luo 280
160
120
Q R S
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Question 7- Books sold by A in place P 1s what percent of books sold by B in

place S.

P o €T T A T S 1T T&deh B g S o T G ST 715 TEdehl 3T {ohelH]

12.5% 9f9rd 82

13%

66.66% 7= géxloo
e e

None of these
- Zo o
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Question 8- Find the ratio between the article sold by A in place P and R to
the article sold by B 1n place &and S.

T4 8- P ST R o T T A T sI=il 75 6] T B g &) 37 S o T T i<l

11:12  TT5 I o sfT= 3TUTd 14 shIfST)
. 200 ON
12:13 . 16 il 160
RWR 160 —
14:15 - @
: 120
None ofthese/ 100 @

S P Q R N
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Question 9- If selling of article 1s increased by seller B in place S by 20% and
25% then present selling of B 1n place S 1s what percent more than total article

_soldby A 11‘

(e

0S¥ WH&W 1q fershdl B I o ohi o3kl § S o T T 20% 3R 25% 3t i |

2% J?Gn?ﬁ% At adA S % T o B Y Rkt Q F A gRT 3R M e d%gi%l Rl
_av\ ol srfrm 29 .
. DL r—
A. 12% S‘—|5°°L RIS N
B.2%% <5 fs M a20)
C. 20.15% o 100 —80
D. 1525% 3= |<9<3> ) 60
E. None of these\ [YWAS

Jf@

! Mi}

=[RSy p Q R S

—_—

—_—




https://t.me/mathbytarunsirmepl 9




Question 10- Find the sum of the books sold by A and B in place Q and S.

T 10- Q HI S o TAM T A IR B G s T8 T&ehi T AN JTd hifs1q]

A 180 B= (3uw0+240] ,, o i

B. 280 _ €20 50 Aed sy g@

C. 220 a “ @
D. 620 S "

E. None of these %0
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Question 11- A white car running at a speed of 144 km/hr 1s approaching a
black car at a speed of 108 km/hr from a distance of64 m)behind. In how

much time will 1t cross the black car?

T 11- 144 fereft/eiat sht 11 & =iet T Tk Tohe R 64 HIe 41 @ 108 fohefl/erer
?mprTchrﬁ Ueh ShIcAT ShIX oh UTH 37T (&l 2| 98 hicd T hl s okl fohd< @9 H U

0, <L1‘1 o&)Xf

A. 5.4 seconds

i_
}@X S B. 8.4 seconds
- C. 7.6 seconds
){_ c )(‘ —D. 6.4 seconds
=64 A E. None of these




Question 12- At what percent above the cost price should a person marks so
that there 1s a gain of 20% after a discount of 12%.

T 12- Teh A {<h ol 5hd Hed H fehd SIS 3ok 3ieh Sffehd T =IMieq dlish

12% h1 BE 6 S1& 20% T ATH gl

\Ys

G
2

O CP
S
_ |
{0{ =
,:{'/_:i )
S [0
|

me

2S

—_—

156
N

= 3B Xloo

|6

= oo
B

=36

A. 10%
B. 20%
C. 40%
D. 30%
E—None of these




Find the quantity of water in the new mixture

I 13- EHE:ﬁTITFﬁé% 80 1T fiF2ror o, ger AT AT bt ST 4: 1 81 A ferom
T 40 T FIeRTeT oI ST 2 39T 20 e ot ferera ST 2 qq fersyor 4 o

T AT 1 Shifsr

O Qh*“}KH?t%S:QGL

|=ICL .
M=lerys gL
L\): IMG:_) |C
<l1 ] »S5=1oL
= QL
AR

= 2L

&h\@L

|
Witn= 1G-0+420

= 28L

——————————

Question 13- In a 80 1t mixture of milk and water, the ratio of milk and water
is 4 : 1. If 40 1t of the mixture was taken out and 20 liters of water 1s added.

A. 10L
B. 20L
C. 18L
P 28 L
E. None of these




Question 14- P and Q entered into a partnership with capital in the ratio of 5 :
6. After 6 months, R joined the business with half of the capital than Q. If at
the end of the year, the share of P in total profit 1s Rs.48,00 then find the total

profit earned by R

T 14- P 3R Q A 5: 6 9 AT H YSiT o AT ATHEHT H FoiFT AT 6 TR T,
R, Qc‘ﬁawﬁsﬂ%frqﬁ%wwqwq T QIS &1 ST 21 Al a9 o 37 |, %l
WﬁPW%’G&MS 00 T 2, dl R T 3T el AT 1 shiTor

@ P | Q R \ ID:—%—H&O()
SIR SR 3XE =T hgo A. Rs 1400
6 A7 47 R= Hlox3 B. Rs 1600

Q- . =
o2 3 T 1Y (C—Rs 1440
D. Rs 1800

E. None of these 9
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Question 15- The difference between the Compound Interest on a certain sum
of money at 25% for second year and first year 1s Rs. 2700. Find the sum.

T 15- Teh Af2ra o ox gal o 1T 9o o o fo7T 25% 6 & @ =ohdfg

STTST 3 1 T 37 2700 T 21 TR 3T hITTT]

0 QS/ Deff= 5-4

“l‘%{%o
17)_, Is VY-?S/& 16 = Foox|C
|
. . @ ‘Lﬁzoc’ Rs 307500
L , . Rs 187500
’1 C. Rs 387500
D. Rs 284000

(E. None of these 9
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Question 16- The length and the breadth of a rectangle is in the ratio of 2:3. If
the area of the rectangle 1@@ square . Find 1ts perimeter

T 16- Teh ST 3h! TAeTg IR =1ST3 T AT 2:3 8] Il I T &IhA 384

THT 31 21 3Eeht iR J1d hifsr

D L=2x [irimden = Q(@)«H&xz)
B= 3x = Qocn,
2XX3x =33y N A. 70 m
AX= 346t B. 80m
A% Gy C. 90m
=g D. 100m

E— None of these
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Question 17- The average age of 18 people 1s 40 years. After including 3 more
persons, the average age 1s increased by 5 years. Find the average age of 3

new persons?

T 17- 18 SHhAT 3ht STTEd AT 40 9 & 3 I SARKAT skl IMHA L o ST,
3fTEd ST | 5 9 ol feg BT 81 3 T ATKAT ohT ST AT 4 hITSR?

A. 70 years
B. 80 years
C. 75 years
D. 85 years
E.

None of these 9
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